I’m putting the questions that I have received so far this year (Spring 2019) at the top without numbers. The numbered questions that follow are from previous years.

Question. Is vested remainder subject to divestment and vested remainder subject to defeasance the same thing? Also, can we be more specific and say "vested remainder subject to an executory interest/condition subsequent" instead?

Answer. “Vested remainder subject to divestment” and “vested remainder subject to defeasance” are synonymous, and both terms are in use. “Vested remainder subject to an executory interest” or “vested remainder subject to a condition subsequent” are not in common use, though in the first case everybody would know what you meant. The first is actually a bit more precise because a vested remainder can also be defeased by an interest retained by the grantor. If you say “vested remainder in fee on (or subject to) a condition subsequent”, I’d be looking for a retained right of entry in the grantor, and would be a bit surprised if I didn’t find it.
Question. I was wondering if in the below scenario G would have a reversion. I believe so but just wanted to check.
G —>le A —>rdr B if she reaches 21, if not —> C (Consider this grant generally before considering the factual variations.) (Class outline 16, 1.d)

Answer. Whenever a life estate is followed by contingent remainders, even if those remainders seem to exhaust all the logical possibilities, there is always a reversion because of the possibility of forfeiture of the life estate. In modern law where we have a tendency to wait and see if B fulfills a condition like the one given below, there is an even stronger reason to have a reversion. A may die when B is 18 but perfectly capable of making it to 21.

Question. I've been doing the sample practice problems on our course page.  Are we expected to know the Presumption Statute?  A few of the practice problems mentioned it.  I believe this is essentially asking for the common law interpretation but just want to confirm. 
The presumption statute is (3) on the exam instructions. It simply presumes that any grant/devise ‘to A’ is the grant of a fee even though the words ‘and his/her heirs’ are not added. The statute applies to all the objective questions on the exam, to the essay question on the exam, and to all the problems in the course materials except for the first few which explore what would happen if you did not have such a statute.

Question. On variation (b)(v) of the #7 on the class 17 problems, shouldn’t D also get a present fee simple along with C, since he's included in the class of A's children?

Answer. You caught me, and thanks for pointing it out. You are quite right that the way in which the grants are worded there are two conditions for class membership in both 6 and 7 but there is a difference in the conditions. In no. 6 to be a member of the class you must be (1) a child of A, and (2) at least 21 years old. In no. 7: (1) you must be a child of A and (2) some child of A must have attained the age of 21. I pointed this out in class but did not follow through in the suggested answers on the self-test. What that means is that in no. 7 both C and D have a fee simple absolute, and there is no difference between common law and modern law. This has now been corrected in the self-test.
Question: Do we need to know the Rule in Shelley's Case or the Doctrine of Worthier Title?

Answer: Not for the objectives. If either doctrine might be involved in the essay, I’ll flag it and explain it.

Question: Do we need to know the fee tail because it is still recognized in MA?

Answer: What you need to know is that the states are all over the lot about what to do if someone tries to create a fee tail. There’s a problem in the Materials that allows you to work through them. Granted how different the laws of the different states are on this topic, it probably would not be a good objective question, but a couple of years ago I did put a fee tail on the essay question but then gave you a statute about it.

Question: Could you please explain the difference between shifting and springing executory interests?

Answer: A shifting executory interest cuts off the interest of the third-party prior to its natural expiration; a springing executory arises out of the seisin of the grantor or of the holder of a reversion.
Question: Could you please explain this: “Remember, whenever O creates a contingent remainder in fee simple, there is a reversion in O; whenever O creates a vested remainder in fee simple, there is never a reversion in fee simple in O”

Answer: There is always a reversion with contingent remainders because of the possibility that the supporting life estate could be forfeited. There is never a reversion with a vested remainder in fee simple, because the vested remainderman stands ready to take however the supporting estate is terminated.

The following questions go through the classes that we had on future interests quite systematically. Some of my answers are embedded in the questions in diamond brackets <>. Most of them are numbered like the questions and follow the questions. I begin, out of order, with an exchange of emails that I had with a student who was having some trouble with the distinction between precedent and subsequent conditions. I put the questions at the top because I suspect that the student was not alone in having this difficulty.
Question 1. Hope you're having a good night so far. I wanted to ask you a question about "remainder in fee simple"? I was looking at Krier and he said remainder in fee simple exists for the following example and I was really confused because I checked my class notes and I couldn't find this term so not sure if we discussed it or if it was a point that you disagreed with Krier on. 

The problem is below: 

O conveys "to A for life, then to B and his heirs if B survives A, and if B does not survive A, to B's children and their heirs." 
· A: has a life estate 

· B: remainder, then it says remainder in fee simple ("B and his heirs"), as well as contingent remainder ("if B survives A") 

· "and if B does not survive A, to B's children and their heirs." 

· B's children and their heirs: remainder b/c do not divest the preceding life estate. 

· remainder to a class in fee simple? 
· contingent remainder b/c subject to express condition precedent "and if B does not survive A"

What is the definition of a remainder in fee simple? Should we assume that this applies if the term is "B and his heirs"? I was confused because I thought O was conveying a life estate to A, so I thought if B had the remainder then the remainder would also be the life estate? Or am I misreading the problem and it means that A has the life estate and then B and his heirs get the fee simple if they survive A? The language seems kind of ambiguous to me? 
Answer 1. The remainder in B and his heirs is a remainder in fee simple. The use of the phrase “and his heirs” tells you that. The remainder in B’s children and their heirs is also a remainder in fee simple. Once more the use of the phrase “and their heirs” tells you that. Both remainders are contingent. B gets it if he survives A. His children get it if he does not. We called these alternative contingent remainders in class. (The children’s remainder is also contingent on there being at least one person who meets the class definition.)

There’s nothing about what Krier says about this with which I disagree.

Question 2 (follow-up). For the Future Interests, I know that there are three "rules of thumb": 

1. Vested remainder -> executory interest 
an executory interest always follows a remainder because executory interests divest vested remainders and the vested remainder in fee can be indefinite, so in this case it is prematurely cut off. 

2. alternative contingent remainder -> alternative contingent remainder 
I'm a little confused about why the second has to be an alternative contingent remainders and could not be an executory interest? Because doesn't technically the 2nd interest "cut off" the first one? I'm thinking of the below example:

O conveys "to A for life, then to B if B survives A, but if B does not survive A, to C." Is it because C does not have to take any action to "cut off" B's interest? So condition of survival does not count as "taking action to cut off" the interest? You just have to wait to see if B survives A? 

3. LE -> vested remainder (fee) -> executory interest.
My notes from yesterday says  vested rdr has a condition subsequent. For the vested remainder (fee) portion of this, does this rule apply to all types of vested remainders, not just remainders with condition subsequent? 
As a follow up question on this, for one of the objective questions, it states that 
"O conveys “to A for life, remainder to such of A's children as survive her, but if none of A's children survive her, remainder to B and her heirs.” A has two children X and Y.
· A has a LE. 

· O has a possibility of reverter? 

· A's children X and Y: I originally thought this was a vested remainder subject to condition subsequent, but is this a contingent remainder because it's "remainder to such of A's children as survive her" is a condition precedent, and we don't consider the "but if none of A's children survive her" as a condition subsequent? 

· B:  this is an alternative remainder because it follows A's children if they have a vested remainder, but again, I'm confused about how to consider the condition of survival here. Is it because B and his heirs have to wait to see if A's children survive and their interest doesn't count as prematurely cutting off A's children's rights because they don't take action, they are just waiting to see if A's children fulfill the condition? 

Answer 2 (follow-up). I wouldn’t state the three ‘rules of thumb’ in quite the way that you did.

1. An executory interest always follows a vested remainder in fee for the reason that you state. It is not accurate to say that an executory interest always follows any remainder. One can, for example, have a remainder following a vested remainder for life.

2. ‘Cut off’ is metaphorical language. In the example that you give, however, the second remainder does not ‘cut off’ the first because the first disappears by its own terms when B fails to survive A. A precedent condition to B taking is that s/he survive A. If s/he does not, there’s nothing there to be cut off.

3. This is the same precedent/subsequent problem. X and Y have a contingent remainder. In order to have a vested remainder they would have to fulfill two precedent conditions to their taking: (1) they have to be children of A (they qualify), and (2) they have to survive A. They haven’t done that yet. Hence, the interest in B is also a contingent remainder. While we’re at it, O does not have a possibility of reverter. S/he has a reversion. There’s always a reversion if there are alternative contingent remainders in fee because of the possibility of forfeiture.

Question 3 (follow up). I have a quick follow up question to your earlier statement: 

· You said that a remainder can follow a vested remainder for life. I'm assuming that there is also a risk of forfeiture for vested remainders subject to open, vested remainders subject to divestment and contingent remainders? Essentially, the only time we could say that an executory interest for sure follows a remainder is when the vested remainder is in fee?

· If O conveys a life estate to A, rdr to B, do we just look to the conveyance of the life estate to determine what type of interest that O has? 

· And, in this case, as LE has a risk of forfeiture, O has a reversion 

· O conveys “to A for life, remainder to such of A's children as survive her, but if none of A's children survive her, remainder to B and her heirs.” A has two children X and Y.
· Alternative contingent remainders always follow other contingent remainders? 
· In this case, if A did not have any children, then the remainder would be vested remainder subject to open, and B would still have an alternative contingent remainder because they have to wait to see if A will have any children and if those children will survive her?

Answer 3. (follow up) Any interest, vested or contingent, can be forfeited, but the risk of forfeiture results in a reversion only if the interest that follows the forfeited interest is contingent. In the first example that you give O–>l.e. A–>rdr B, there’s no reversion because if A forfeits, B stands ready to take. On the other hand, O–>l.e. A–>rdr B if B survives A, otherwise –>C, there is a reversion because if A forfeits (s/he is still alive) we can’t give it either to B or to C because neither of them has fulfilled the contingency of surviving A. Hence, we have to have a reversion in O.

In your second example, we have alternative contingent remainders, so long as A is alive (and a reversion in O). As a general matter (and certainly in this case) if the first of pair of remainders is contingent, the second will be contingent as well. Your second statement (beginning “In this case”), however, is not right. If A did not have any children, then the remainder in the unborn children would not be a vested remainder subject to open, it would be a contingent remainder, doubly contingent: contingent on A having one or more children and then contingent on one or more of those children surviving A.

Question 4. I notice that in your answers and in the text, you refer to “common law” in the past tense. To clarify, when you say “common law,” you mean the common law of England, or Anglo-American common law prior to codification? I guess I’m wondering how to determine what in common law is still good law (i.e. that wouldn’t be referenced in the past tense), because I would imagine that not all American property law has been codified. 

Answer 4. There’s a special usage of ‘common law’ when we are talking about estates and future interests: the common law before the modern reforms, i.e., the Anglo-American common law circa 1800. Some of these reforms were ‘common-law reforms’ in the sense that they were devised by courts without the aid of legislation; some of them were statutory reforms. You are quite right that very few states have a ‘codified’ property law, but codification and piecemeal statutory reform are two different things.

Question 5. What is the relationship between alienability, devisability, and descendibility? I’m under the impression that devisability is a subset of alienability, but is descendibility as well?

Answer 5. You’ve latched onto what can be an ambiguity. As a general matter you are right, ‘devisability’ is subset of ‘alienability’. That is obviously not the case in the phrase ‘alienable, devisable, and descendible’, where ‘alienable’ is a short-hand for ‘alienable inter vivos’.
Question 6. These are some basic clarification questions. What is the usual definition of “issues”? Does the term include surviving brothers, sisters, and cousins? How do you define “heirs”? Are they determined by law, or can one designate specific people as heirs? 

Answer 6. ‘Issue’ (note that it’s normally in the singular) is normally interpreted to mean the same thing as ‘descendants’ (children, grandchildren, etc.). There have been courts which have interpreted it to include collateral relatives (siblings, cousins, etc.), usually with particularly badly drafted wills. A well-drafted will that uses the term will also define it. ‘Heirs’ practically always means those who would succeed in intestacy under the relevant statute of distribution and descent. You can change the meaning by definition in a will, but it is a bad idea to do so. You cannot create a scheme of descent other than the one given by law, that is to say, you can define the heirs of a particular person differently from what the statute says but you cannot say who the heirs of those heirs will be.
Reversionary Interests [Class Outline]
Question 7. Between Storke and Browning, there are five principles of interpreting ambiguous conveyances: (1) a common law preference for early vestment, (2) a preference for fee simple on condition subsequents to fee simple determinables, (3) a right of entry needs to explicit; (4) a willingness to look at external evidence to locate the devisor’s intent, and (5) a presumption that remainders do not vest until the life tenant has died. Is there a hierarchy to those goals, or do courts look at them simultaneously? Are these presumptions strong enough to drive an answer in the objective test? And, aside from goals of fairness and equity, are there any other presumptions/interpretive rules of thumb we should be aware of?

Answer 7. I wouldn’t combine the interpretive rules of Storke and Browning. The former is specific to rights of entry and possibilities of reverter, the latter is more general about interpretation of wills and instruments of conveyance. Of the two that you derive from Storke I would say that not every court would prefer a fscs to a fsd in the way that the Storke court did, and so that’s a bad one to ask an objective question about unless I told you something about the state of the law. As to the requirement that rights of entry need to be specifically retained, I would say that that is pretty close to a rule of law in most jurisdictions, so I think it would be fair to pose an objective question that assumed that rule. The preference for early vesting is quite common both in wills and inter vivos conveyances. The Browning court did not apply it in the situation with which it was faced. There are other courts that have not applied it in the situation where there is a life tenant, even in some cases implying a condition of survivorship where none is mentioned. These courts are a minority, but the cases exist. In that state of the law, one would have trouble devising an objective question that tested for it, though one might devise an objective that tested to see if you knew what the issue was. How willing a court might be to look at external evidence to determine the devisor’s intent is an issue that is normally treated in wills and trusts courses. What the court did in Browning did not go very far down the road in admitting extrinsic evidence. All it did was mention the age of the boys at the time that Kate Webb wrote her will.

Question 8. I couldn’t find a reference to a formal statute of limitations in Storke. Did the court just decide that it was too late for the Storke’s to recover the land based on principles of fairness? Do statutes of limitation ever play a role in cutting short rights of entry?

Answer 8. They do, but the right to possession in a right of entry does not arise until the right is exercised (normally by actually making an entry or by bringing suit). The statute only begins to run at that point. What the court did in Storke, and it is not alone in this, was to apply two equitable principles, laches and waiver, to hold that Storke could not now exercise the right of entry.

Question 9. You sent out that helpful chart on page S210 summarizing present estates, and in your footnotes mentioned that an FSD or FSCS that creates a future interest in a third party is better described as a “fee simple subject to an executory limitation.” So is it fair to consider the fee simple subject to an executory limitation a subsidiary category of each (the FSD or the FSCS) or is there another way to create it, aside from those two?

Answer 9. The fscs is normally used to describe a fs where the grantor retains a right of entry. You can’t create a right of entry in third parties, so a fs subject to the condition that if X happens then Y takes is better described a fs s/t x.i. Similarly, a possibility of reverter can only be created in the grantor, though it may be implied in the grantor. Hence, a determinable fee followed by an executory interest is better described as a fs s/t x.i. The implication of the possibility of reverter will arise if the excutory interest is void under the Rule Against Perpetuities, as it frequently is.
Question 10. Should the possibility of reverter and right of entry/power of termination be classified as a future interest? I indicated as much in my notes, but as I’ve been reviewing, I notice that only the following are classified as future interests: remainder, reversion, executory interest. I know it probably seems like a nit-picky point, but I just want to make sure I’m being scrupulous. 
Answer 10. Reversions, possibilities of reverter, and rights of entry are all future interests. They may created only in the grantor/devisor. Remainders and executory interests may only be created in third parties. The technically proper terminology to describe all future interests is ‘reversionary interests, remainders and executory interests’, but you will find writers using ‘reversions’ as a shorthand for all reversionary interests.
Question 11. I am hoping you can explain a means of analyzing the following problem:
“David conveys Greenacres to Professor Donahue for life, then to Frank and his heirs, but if Greenacres is not used as a farm, then to John and his heirs.”
When we are assigning parties their interests, how do we determine whether or not the “farm usage” requirement applies to Prof. Donahue? That is, if we are trying to determine whether or not Frank has a vested remainder subject to divestment or a vested remainder subject to executory limitation how do we know if the farming requirement is global or if it only takes effect after Frank or Frank’s heirs have the farm?
Answer 11. Whether the condition applies to both the life estate and the remainder is anyone’s guess. That is to say, I know of no standard interpretive principle that tells you how to resolve this ambiguity. My instinct would be to apply it to both, but that’s because I can’t see why anyone would want to insist that the remainderman farm without also insisting that the life tenant do so too.
You should be aware, however, that what you have created is almost certainly not enforceable. The executory interest in John and his heirs is void under the Rule Against Perpetuities. That leaves us with a fee simple on a condition subsequent with no right of entry retained. Standard doctrine will not imply rights of entry (contrast possibilities of reverter). Hence, F. has what is, in effect, a vested remainder in fee simple absolute.
Question 12. The alienability chart on p. S224. You included a helpful chart on the common law rules of alienability in the case book. Just to be 100% sure, we should NOT use this chart, right? The modern rules of alienability differ substantially, but I have a couple classmates who frequently refer to that chart, and I did not want to deter them from doing so before checking with you.

Answer 12. The main purpose of the chart is to show you what the rules were at common law before the modern changes. The instructions for the objective questions say that you are to assume that: “(9) all future interests are alienable both inter vivos and by will, except beneficial interests in trusts that have a spendthrift clause.” That will do for the objective questions. It may not carry over to the essay (or into real life). If forced to generalize I think I would say that there is a decided tendency today to make future interests alienable. The only one about which there is still general doubt (as opposed to specific provisions in some states such as Illinois) is rights of entry. These are probably not alienable inter vivos in most states, and some states have fairly recent authority holding that an attempted alienation inter vivos destroys the interest.

Question 13. Problem 8, p. S205. A has a fee simple determinable, G has a possibility of reverter. Why doesn’t B get the possibility of reverter? You mention something about the English vs. American rule. For purposes of the exam, should we assume that a possibility of reverter and right of entry/power of termination cannot be devised or alienated? They can be inherited though, yes?
Answer 13. There is a sufficient amount of ambiguity about this that it would be unfair to give an objective question about it. Supp. p. S224 and note 2 deals with the issue. If I had to choose, I would say that possibilities of reverter are probably not devisable in England and probably are in most U.S. jurisdictions.
Question 14. Future Interests: I have a question about Brown v. Independent Baptist Church of Woburn. T “devises to Church so long as used for church purposes, then to A, and the rest and remainder to B (residuary clause).” So A’s executory interest is void under RAP, and (I think) so is B’s. Who has the possibility of reverter? Gilbert’s (on p. 142) says that T’s heirs, and not B, have a possibility of reverter. Gilbert’s also says that the “Massachusetts view” in Brown is “logically fallacious” in saying that T has a possibility of reverter which passes to B under the residuary clause, because T is dead so he can’t have the possibility of reverter. Which view should we follow? 

Answer 14. This is one of the places where Jim Krier (the author of Gilbert’s) and I disagree. I also have the impression that he’s simply wrong if he thinks that the authorities support him. My impression is (I really should check) that Brown has a fairly wide following. The alternative is, of course, what still is the English rule, that possibilities of reverter can’t be devised. As a general matter (although it did not help in Brown), allowing the reverter to pass to the residuary legatees, usually makes it easier to find who has the reverter now.

Question 15. Same question on Problem 9, p. S205. B gets nothing because the right of entry/power of termination cannot be devised. Correct?
Answer 15. Correct, at least until an American court faces the issue and says that all this stuff about inalienability is rubbish. As long as you ask, there is a major exception to inalienability rules generally. The holder of an inalienable future interest may release it to the holder of the present interest.
Question 16. Problem 10, p. S205. For purposes of answering questions in the multiple choice section, should we follow the rule in Storke that if a right of entry/power of termination is not expressly retained in the instrument conveying a fee simple on a condition subsequent, then neither the grantor nor his heirs or devisees have anything? And the grant becomes a fee simple absolute? In other words, how closely should we follow Storke?
Answer 16. That no right of entry will be implied (it has to be expressed) is pretty standard. What is not totally standard is the way in which Storke twisted the language of the grant to make it a fscs. Many courts would probably say that on balance this is probably a fsd.
Question 17. I think I’m also just confused more generally on which rules we should follow regarding the alienability/devisability of a right of entry and possibility of reverter. In your October 7 lecture, you said the trend was toward making all future interests conveyable. Would that include the two interests above? And if so, shouldn’t the answers in problems 8 and 9 (at least) have indicated that B had a possibility of reverter / right of entry?
Answer 17. Answered above.
Question 18. I’ve been studying rights of entry, and I was hoping you could help me reconcile some materials. I understand that at common law, the holder of a right of entry “was generally not devisable or alienable, although it could, under most circumstances, be inherited by his heirs” (S205). The table on S224 reinforces that common law rule. But I’m having a little trouble understanding whether the holder of a right of entry can alienate at modern law.

On S205, you write that, “[s]ome American courts still follow this rule, and a few have held that the attempted alienation of a right of entry destroys it. The trend, however, aided by statute, is in favor of free alienability of these interests.” It seems like there’s three options here, depending on the state: (1) a minority of states do not allow the holder of a right of entry to alienate (2) a few states destroy the right of entry if the holder tries to alienate and (3) most states permit the holder of the right of entry to alienate.

But the answer for Problem 9 seems to indicate that only (1) and (2) are possibilities at modern law. Even at modern law, no state permits the holder of the right of entry to alienate, which is why B has nothing. Should I assume that, absent a specific statue, all states adopt the common law rule? I rewrote Problem 9 and your answer below.

Answer 18. The intructions for the objective questions on the exam say: “(9) all future interests are alienable both inter vivos and by will, except beneficial interests in trusts that have a spendthrift clause.” That answers your question so far as the objectives is concerned. Looking at it, I think that what I say on p. S205 may be too optimistic. Let me get back to you with further elaboration:
Here’s my promised further elaboration. Problem 9 was under the assumption of common law except for the statutes given, which do not deal with alienation of future interests, much less rights of entry. Hence, the answer given to Problem 9 is correct. Much more problematical is the statement on p. S205. It was intended to be much vaguer than your attempt at giving percentages. I would rewrite your statement this way: (1) Most states have authority, some of it quite old but not overruled, that holds that rights of entry are inalienable. (2) Some states have authority, again, some of it quite old but not overruled, that holds that an attempt to alienate a right entry destroys it. (3) There is a decided trend, in some cases aided by statute, in favor of alienation of these interests. I just took a gander through a whole bunch of right of entry cases decided since 1970. There is clearly one jurisdiction that has changed its mind (Massachusetts) and allows the alienation. Most of the cases that I saw do not raise the issue of alienation. A number are actions by the heirs at law of donor against a charity for failure to use the property for the stated purpose of the grant (libraries seem to be a favorite object). Simes & Smith, the standard treatise on future interests, which is being kept up-to-date, says in § 1862 that as general matter rights of entry are inalienable in the U.S., though it criticizes the rule.
Question 19. If a defeasible fee has a remainder (not a reversion) but does NOT use the language needed for a fee simple determinable and DOES use the language for a fee simple subject to a condition subsequent, what is it?

Ie: “To A, but to B if A uses it as a saloon”
Answer 19. We called it a fee simple subject to an executory limitation. So what B has got is an executory interest not a remainder. Interestingly, you managed to avoid a perpetuities violation here. I think most courts would take this as applying just to A, and s/he is a life in being.
Remainders and Reversions [Class Outline]
Question 20. Birth can be a condition for a remainder? (So, for example, if G grants a life estate to A with remainder to the children of B, and B has yet to have children, children of B have a remainder contingent on their births.)

Answer 20. Yes. Or to put it another way where the grant describes a person who does not exist that grant is contingent on the emergence of someone who meets the description. That applies not only to ‘the child of B’ where B has no children, but also to ‘the 2017 graduates of Harvard College’ when the graduation hasn’t happened yet.

Question 21. Destructibility of contingent remainders. I know you’ve told us to assume that “the common law rule of destructibility of remainders is abolished.” But you also mentioned that it’s still good law to say that contingent remainders are destroyed “by failure to meet the condition,” and that remainders might be destroyed by construction if a condition is not met “by the expiration of the previous estate.” So what does it mean to say that we should assume the common law rule is abolished? Isn’t 1/3 to 2/3 of the rule still intact?

Answer 21. Sure, you can think about it that way if you want to. The common-law doctrine of destructability is normally thought to include just the last two: by failure to fulfill the condition prior to the expiration of the supporting freehold and by merger. Descructability by failure to fulfill the condition at any time, in this view, is not common law; it’s common sense. I don’t think any state still has destructability by merger nor does any state that I know of have destructability by failure to fulfill the condition prior to the expiration of the supporting estate as a rule of law. Many still have it as a rule of interpretation. If you say what you mean, you’ll get what you say. If you don’t say, it will be assumed that you meant that the condition must be fulfilled at the time of the expiration of the supporting estate.
Question 22. Does a contingent remainder always create a possibility of reverter, because of the possibility of destructibility?

Answer 22. A contingent remainder never creates a possibility of reverter. With all contingent remainders, however, there is an implied reversion because of the possibility of forfeiture.

Question 23. I associate destructibility with life estates, but couldn’t a fee simple determinable create one? (For example: O-->A, but if he sells alcohol on the property-->B, if he has three daughters)

Answer 23. The executory interest in B in your example is contingent, but it was not destructible at common law because it is an exectuory interest and not a remainder.
Question 24. Problem 1a. Can you explain the difference between vesting in interest and vesting in possession? I took notes, but I’m having difficulty understanding exactly what’s going on. It seemed like a fairly straightforward problem.
Answer 24. There are no precedent conditions to B’s taking, so her interest is vested. It is not, of course, vested in possession, because A is still alive. In fact, it may never vest in possession in B. If she dies before A, the interest passes to her heirs/devisees/alienees, to vest in possession in them when A dies.
Question 25. Problem 1d. The notes I took seem to conflict with something in your typed answers. At common law, if B had not reached the age of 21 by the time A dies, does the remainder revert to G or go to C? My notes said that it would revert to G, but your typed explanation said the remainder would be destroyed and C would “take.” My understanding is that at modern law something different would happen: if B had not reached 21 by the time of A’s passing, the reversion in G would fall in while we hang out and wait to see if B makes it to 21. It can’t go to C right away, because we don’t know for certain whether B will not make it to 21. If B does make it to 21 some years after A’s death, my understanding is that B gets the remainder (G’s reversion would be “defeased” - is that right?). But if B dies at age 20, say, we then know the condition of his receiving the remainder has not been fulfilled, and the interest would then go to C. It’s as if G’s reversion functions as a “holding ground” for the interest while we wait to see if B’s condition is satisfied. Is my understanding of this headed in the right direction? And would you call G’s reversion a reversion in fee subject to a condition subsequent?
Answer 25. At common law if B had not reached the age of 21 by the time of A’s death, the remainder was destroyed. Whether there would be a reversion or whether the property would go to C is not completely clear, but we don’t have to worry about that because we’re dealing with modern law, where the automatic destructibility of contingent remainders has been abolished. Under modern  law we have an interpretation problem. Did G mean ‘if she has reached 21 by the time of A’s death’ or did G mean ‘if she survives to the age of 21 whenever A dies’? Obviously, there is an ambiguity in the language. It could have been made clear. Today either intent will be implemented. If the language is of the first variety, C will take if B is not 21 at A’s death. If it is of the second variety, there will be a reversion, but B’s and C’s interest will be converted into executory interests, B’s to take effect if and when she reaches 21, C’s if she dies before reaching 21. In the ambiguous case, the modern tendency is to interpret the language as if it said ‘if she has reached 21 by the time of A’s death’ and give the property to C, but other things in the instrument might overcome that rather weak presumption.
Question 26. Is divestment and defeasance the same thing? I know if there’s a vested remainder subject to a condition subsequent, we speak of it being “divested” by that condition subsequent. But in the case of a reversion in fee subject to a condition subsequent, we speak of that reversion being “defeased,” rather than “divested,” no?
Answer 26. The words are largely synonymous, but you’re right that we have a tendency to use the former where we have a vested remainder that has not yet become possessory and the latter where we are dealing with an interest that has become possessory.
Question 27. Alternative Contingent Remainders - this is just when you have two contingent remainders back-to-back, correct?
Answer 27. Yes, particularly where they seem to be mutually exclusive: if X to A, if not X to B.
Question 28. Problem 1g. As I reworked this problem before checking the answer, I wrote the following: A has a present possessory life estate; B has a vested remainder in fee simple absolute subject to divestment; C has a contingent remainder in fee simple absolute; and G has nothing (i.e., no reversion). Looking at the answer, I see that what I called “divestment” (and C’s contingent remainder) is actually an executory interest. Can you help me understand why my divestment/contingent remainder labels were wrong?
Answer 28. Because any interest that follows a vested interest in fee has to be an executory interest, because it cuts short the interest prior to its natural expiration (which in the case of a fee is never). A remainder must follow the natural expiration of the preceding interest.
Question 29. Problems on page S213.
13(b) ”G grants to A for life, remainder to B’s surviving children,” and we assume that “surviving” means “surviving A.” A and B are both alive, and B’s only child C grants all his right, title, and interest to D. My question is, why does D have nothing? Is C’s contingent remainder not alienable?

12(f) ”G grants to A for life, remainder to B’s children.” (This time, no “surviving” clause.) A dies, survived by B and B’s child C who grants all right, title, and interest to D. Your answers explain that the court will presume that G did not want to keep its title in abeyance, so the class of B’s children will close upon A’s death unless G uses the right language to reverse the presumption. To generalize, then, is it fair to say that a class will be presumed closed once the remainder of the class members vests in possession?

Answer 29. 13(b): You may have caught me there, but I think that I had not relaxed the rule about the inalienability of contingent interests as a the background law for that problem. The problem says that common-law destructibility has been abolished. It doesn’t say the contingent remainders are alienable. They still aren’t in Illinois, and there may be other jurisdictions where they are not. 

12(f): Yes. In fact, the interpretive principle is broader than that. Most courts will hold that if the instrument does not specify when the condition is to be fulfilled (and being a child of B is a condition), it will presume that it is to be fulfilled at the time of the expiration of the supporting freehold estate.
Question 30. In questions that grant a future interest to a potentially-still growing class, should we assume that the class closes when the previous estate has expired, or that it remains open? (i.e. In D --> LE A --> Children of A, do the children of A have a vested remainder in fee simple absolute, or a vested remainder in fee simple absolute subject to open?)

Answer 30. The existing children of A have a vested remainder in fee simple but it is subject to open by A’s having more children. A more complicated problem is –>l.e. A –>rdr children of B. A dies before B does. B has children. Do we cut off the opening of the class at that point? This is a matter of interpretation, and it is clear that if one specifies, that’s what one gets: “to those children of B born before the death of A” or “to those children of B whenever born”. If you don’t say, however, the decided tendency is to interpret it as meaning the first of the two unless there are no children of B at the time of the death of the life tenant. If there are not, we keep the estate open until B dies.

Question 31. In modern law, does the intent necessary to break the light presumption of destructibility for a contingent remainder have to be textual? Or can it be based on oral/external evidence from the grantor’s life?

Answer 31. Courts were formerly quite reluctant to look at external evidence in interpreting wills. They are a bit more open to it today, but that’s not the first place they look to determine intent. It is, for example, presumed that the testator would have intended not to hold his estate open for long periods of time in order to see if something happens which had not happened at the death of the life tenant. Something that might change a court’s mind would be if the life tenant died suddenly and at a young age. But that’s not looking to “oral/external evidence from the grantor’s life,” that’s looking what actually happened and asking the question what would the grantor have done if s/he had known something about future circumstances.
On to Executory Interests [Class Outline]
Question 32. You mentioned in the posted answers that there is a reversion when a life estate followed by two contingent remainders but that there is no reversion when a life estate is followed by a vested remainder, which is then followed by an executory interest. Is there a reversion if you have a LE and vested interest, but no executory interest? 

Answer 32. What I said applies to the situation where the remainders or the remainder and the executory interest are both in fee. There will, of course, be a reversion if the grant says “to A for life, remainder to B for life.” B’s interest is vested, but together the two interests don’t add up to a fee. If, however, I say “to A for life, remainder to B (and his/her heirs)”, B has a vested remainder in fee simple absolute, and there is no possibility of a reversion.
Question 33. I’m having trouble figuring out when something is an alternative contingent remainder vs. an executory interest.
Answer 33. Definitions: (a) A remainder (be it contingent or not) is a future interest that may take effect upon the natural expiration of the preceding freehold estate.


(b) An executory interest is a future interest that cannot take effect upon the natural expiration of the preceding freehold estate.


Since the only freehold estate that is at all common today in the US of A and that has a natural expiration is the life estate, look for a life estate and ask yourself the question: could this take effect upon the death of the life tenant?


Example: To A for life, remainder to B if she is 21. Could B take when A dies. Sure, if she’s 21. B’s interest is a contingent remainder.


Example: To A for life, remainder one day after A’s death to B if she is 21. Could B take when A dies? Nope. There’s a one day reversion in the Grantor. The Grantor’s reversion is a fee and has no natural expiration. Hence, B’s interest is an executory interest.


Alternative remainders are a bit more complicated.


Example: To A for life, remainder to B if she is 21, if not to C.


Rule of thumb: If the first remainder is a contingent remainder, the alternative will be one as well.


Example: To A for life, remainder to B, but if B fails to reach the age of 21, remainder to C.


Here the remainder in B is vested subject to being divested by B’s dying before she is 21. B’s remainder is a remainder in fee. Hence, C’s interest must be an executory interest, since it takes effect by cutting short B’s fee. Rule of thumb: If the first remainder is vested (or becomes vested), then the alternative interest will be an executory interest.
Question 34. You said that there is always a reversion with alternative contingent remainders. I believe the reasoning is because of the possibility of forfeiture. You also said There does not have to be a reversion where there is a vested remainder followed by an executory interest. Why is there no possibility of forfeiture here? Maybe I’m misunderstanding what forfeiture is. Does it just mean the possibility that the contingency won’t occur? And a vested remainder is already vested so it doesn’t have that issue?
Answer 34. We need to ask the question who is going to forfeit. Normally, it’s the life tenant’s forfeiture that we are thinking about, and the forfeiture is because the life tenant has committed treason or felony. If a life estate is followed by a contingent remainder and the life tenant forfeits we need a reversion to hold the estate until we determine whether the condition of the remainder is fulfilled by the death of the life tenant. In the case of the vested remainder followed by an x.i. if the life tenant forfeits, the vested remainderman takes immediately. S/he takes, of course, subject to the x.i. if the conditions for the x.i. occur. If it’s the future interest that is forfeited, the government, I think, just takes the future interest. (I don’t know of any authority on this, but I think that’s right. One could, of course, make the same argument about the life tenant’s forfeiture, but that’s not the way the common law saw it. It saw the forfeiture as an expiration of the life tenancy prior to its natural expiration.)
[The following questions sometimes refer Problems 1 and 2, which were the numbers in the class outline and sometimes to 15 and 16 which were the numbers in the materials.]

Question 35. #15. G grants “to A for life, rdr to such of A’s children as reach 21, but if A has no children who reach the age of 21, then to the heirs of B.”
(a)   A and B are living, and A has no children. G then conveys all his right, title, and interest to A.

Answer Key “E&FI Problems”: A has a present FSA.

(b)  A and B are living, and A has a child C who is 5. G then conveys all his right, title, and interest to A. 

Answer Key ”E&FI Problems”: A has a present FSA.

I understand that G retains a reversion and conveys it to A. But why is A’s interest an FSA? What happens to the remainder in A’s unborn children? Don’t they still have a remainder contingent on their being born and reaching 21? And what happens to the alternative contingent remainder in B’s heirs?

Answer 35. You might be better off working these problems as I presented them in the class outline rather than as they are in book. Both of these answers depend on common-law merger (life estate and reversion in fee merge), which destroys the intervening contingent remainders. When I did these problems in class, I eliminated the possibility of destruction by merger, which I said I wouldn’t ask you about on the exam.

Question 36. Problem 1a. [Class Outline] Would we say G’s reversion is a reversion in fee subject to a condition subsequent?
Answer 36. We could say that, and it would not be totally inaccurate. It would be more ponderous but more precise to say that G’s reversion is a fee subject to an executory interest which will take effect if A has any children alive 5 years after A’s death, and which will take effect in those children.
Question 37.Would it be accurate to say that an executory interest exists whenever there is a contingent remainder whose condition has not been fulfilled at the time of the expiration of the preceding freehold estate? I.e., the reversion in the grantor would “fall in” until the condition had been fulfilled, but rather than continuing to refer to a contingent remainder, you would describe it as an executory interest? Is that an appropriate way to think about it? I understand that this would obviously only hold under modern law, since at common law the contingent remainder would be destroyed if the condition had not been met when the prior life estate (suppose) expired.
Answer 37. All of this seems to me to be right. One caveat (related to problem 1d above). There is always the possibility of interpreting an ambiguous condition as one that has to be fulfilled no later than the expiration of the preceding estate.
Question 38. I spent a lot of time trying to understand question 1c but still cannot.
Answer 38. Think about this: Any time that there is a term of years, there are two outstanding interests, the interest of the lessor and that of the lessee. The interest of the lessor (unless otherwise stated) is a fee. The remainder in B is going to cut short that interest. Any interest that cuts short an interest in fee has to be an executory interest. The only thing that’s odd about this executory interest is that it does not follow the usual rule about executory interests when it comes to perpetuities, i.e., that they have to become possessory within the perpetuities period. The historical reasons for this exception are complicated and obscure. But there’s a quite understandable modern reason: If the rule were otherwise a landlord could not convey his interest at the end of a lease if the lease were any longer than 21 years, and there are a lot of commercial leases that are longer than that.
Question 39. Problem 2a. You mention that there’s a reversion in G because of the possibility of forfeiture. I had written that there was a reversion, but my rationale was that, whenever you have a contingent remainder, you must have a reversion (because of the principle of conservation of estates). So is there a reversion because of the possibility of forfeiture or because we have alternative contingent remainders, and therefore there must be a reversion in G. Or both?
Answer 39. You are certainly right in this case that the principle of conservation of estates explains the existence of the reversion. What I was trying to say, and said it badly (I fixed it), is that even in the situation where the contingencies seem to cover all possibilities (for example, if it hadn’t said ‘heirs of B’ but just B) there still would be a reversion because of the possibility of forfeiture. There is always a reversion with alternative contingent remainders. There does not have to be one where there is a vested remainder followed by an executory interest.
Question 40. Also, just as a quick clerical note, in your explanation for 2a [Answers], I think you’ve inverted B and A. The hypo stem stipulates that A has no children.
Answer 40. You are right. I got it right on the outline and botched it in the ‘answers’. It’s now fixed.
Question 41. Problem 2(a)(i). In your explanation [Answers] you wrote, “G takes a fee simple absolute.” Would it be alright if I just wrote, “G has a reversion.”
Answer 41. Yes, to be full it’s a reversion in fee simple absolute.>
Question 42. Moving on to the modern law explication, I wrote, “G has a reversion in fee subject to an executory interest/subsequent condition, and B’s heirs have an executory interest in fee simple absolute.” Or can B’s heirs not be said to have an executory interest until their interest becomes vested (i.e., when B dies)?
Answer 42. What you said is fine. I’m reluctant to use the word ‘vested’ when speaking of executory interests because it means something different when we come to the Rule Against Perpetuities.
Question 43. Problem 2(b)(i). I’m probably going into more depth than is necessary for this, but I really want to make sure I understand this. On the outline [Class Outline], you quickly make reference to the destructibility of the contingent remainder in one vs. the non-destructibility of the vested remainder in the other, and also point out there’s no difference in modern law. I would understand how these notes apply if there had been a stipulation that A died, but absent that, is there a significance to this note? I guess I just didn’t see how it applied to the problem stem we had been given.
Answer 43. Under Grant 15 the birth of a child to A leaves us with a contingent remainder because the child still has to reach the age of 21, but in Grant 16 the child has fulfilled all precedent conditions (though is subject to a subsequent one). “There is no difference between the two under modern law” is a bit broad. What I was trying to say is the destructibility feature does not exist under modern law, i.e., a big difference between vested and contingent does not exist in modern law.
Question 44. Secondly, my characterization of each party’s interest was a little more extensive. Can you let me know if these are accurate:

*
2(b)(i) Grant 15. A: present possessory life estate; C: contingent remainder in fee simple absolute; G: reversion; heirs of B: contingent remainder in fee simple absolute; C and the heirs of B have alternative contingent remainders

*
2(b)(i) Grant 16: A: present possessory life estate; C: vested remainder in fee simple absolute, <subject to open and> subject to an executory interest in the heirs of B; heirs of B: executory interest
Answer 44. Other than what I added to 2(b)(i) Grant 16, these explanations are totally accurate.
Question 45. Problem 2(b)(ii), Grant 16, Common Law scenario. The explanation says that logic suggests the executory interest of B’s heirs would not be destroyed under common law. I don’t understand that. What makes it a contingent interest in grant 15 and an executory interest in 16? Is it that in grant 16, it follows a vested remainder?
Answer 45. Yes. And if the vested remainder is not destructible then the logic suggests that the following executory interest won’t be either. It’s contingent remainders that are destructible at common law not executory interests.
Question 46. Problem 2(b)(iii). I think I had the correct answers here, but my terminology does not exactly match yours. Here is how I characterized the respective interests:

*
Grant 15, Common Law. C’s contingent remainder is destroyed, and B’s heirs take a present estate in fee simple absolute. <Yes>
*
Grant 15, Modern Law. G gets a reversion in fee subject to a subsequent condition (i.e., executory interest). C has a springing executory interest. B’s heirs have a shifting executory interest. <Yes>
*
Grant 16, Common Law. C takes a vested remainder in fee simple absolute subject to an executory interest. The heirs of B have a shifting executory interest in fee simple absolute <Yes>
*
Grant 16, Modern Law. Same as common law, supra. <Yes>
Is there anything wrong with the way I’ve characterized these interests? <No>
Specifically, are there certain contexts in which you use the term executory interest vs. “subject to defeasance?”
Answer 46. Subject to defeasance is ok but less precise. If you describe the executory interest, you’ve tied it down tighter.
Question 47. Problem 2(b)(v). For grant 16, would we say that both C and D take a fee simple absolute (as in, they share it)?
Answer 47. If you decide to hold the class open (and only if), I would say that C has a fsa subject to an executory interest in D as to one-half of it, if D makes it to 21. This is more usage of language rather than any real difference in result. We rarely say that an interest is subject to open if it has already become possessory, and although C’s interest and D’s are both fees simple absolute, one is a present possessory interest and the other is a future interest.
Question 48. If you don’t mind, I would really appreciate some clarification on Problem 2(b)(v), referred to in Question 40 of the Estates and Future Interests document.  As I read grant 16, A’s children received a vrso s/t/ x.i, and if any child reaches 21 (C, in this case), then all of the children qualify. Your explanation of 2(b)(iv) in “outCl17_answers” seems to say as much. Accordingly, in 2(b)(v) under grant 16, it seems to me that both C and D had vrso, and that A’s death gives them FSA. 

However, in the explanation for 2(b)(v) in Answer 40, you discuss “holding open” the class to wait and see if D makes it to 21. This is obviously relevant to grant 15 and whether or not we close a class upon the death of the life tenant, but it seems to me that in grant 16 D is already a member of the class by virtue of C having reached 21. C and D would thus take FSA. Am I missing something?

Answer 48. You are absolutely right. The question asked about grant 16, and I answered it about grant 15. In grant 16, C and D share in a fsa. C’s having reached 21 qualifies the whole class, even the 18-year old.
Question 49. Vested remainders subject to open. When a class gift closes, do all class members share a tenancy in common? I assume so, given the modern law presumption for tenancies in common and since the unity of time can’t be met, but I want to be sure I understand the mechanism for redistributing interests among class members.
Answer 49. Unless it is otherwise stated in the instrument, members of classes take as tenants in common. That was also the rule at common law, an exception to the common-law preference for joint tenancy.

